a)
b)
c)
d)

e)

a)
b)
c)

d)

SCH 4C Balancing Quiz

Complete each synthesis reaction:

4A1 +
2H, +
CO, +
NH; +
H,O +

Complete each decomposition reaction:

SrsN, -
2FeCl, ->
2NaOH ->
PtO, -
2H,0 -

30, - Al,0,
0, < 2H,0
Na,O -> Na,CO,
HBr -> NH,Br
SO, <  H,S0,

3C1,

3Sr + N,
2Fe +
Na,O +

Pt + O,

2H,

+ 0,

H,0

Name:

Complete each single replacement reaction:

Na,O +
2A1,0,

CusS +
MgBr,
Al,(S0y);

+

+

2Br

2K <% KO + 2Na
6C1, - 4A1C1, +
Mg -> Mgs + Cu
I, - MgI, +
+ 2Ca -> 3CasSo0,

+

(or + Br,)

2A1

Complete each double replacement reaction:

(NH,) ,PO,
3Sn (NO;),
3FeCl,

3W(CO,) ,

+

+

+

MgCO,
2Na;PO,
2 (NH,) ;PO,

4K,N

->

->

Mg; (PO,)

-> Sn; (PO,),

->

W;N,

+

+

Fe, (PO,), +

+

6K,CO,

(NH,) ,CO4
6NaNO,

6NH,C1



